LEARREBE —&

kids2& &M T HZHEEZ-DLLS 4/70:K) [1[B]1 53]

FE1HA kids B H MIFHTHE 4/14,21,28(:K) [3[E] 5]

AFCO—TF (R —avbhL—=25%1=0DLES 4/70K) [1[E153']

F1H AFCO—T 4R —avbL—=9 4/14,21,28(:X) [3[E] 5]

E 18 E£1—FT1—BodyWaveX =
18] RIB{KigH = 4/916,23,305/14,21(K) [6[a]%']
1] FERIEH=E 4/10,17,24,5/1,15,22(%) [6[a] 5]
F1H TED=HDEILIATFHRIAALME]  15/12,19,26,6/2,16(:k) [5[8] 5]
XEFRAOFTHAILADEEEEEL. 6B DEYBELREBELSE TG0, £ ABKREB LTV 1EEET,

F1HE TEDE=ODRIVIATFAIAAHKE] 15/13,20,27,6/3,17(7K) [5[E] 5]

XEFEOAOFIMILRADEELEEL, 6 DEYAELKRELSETWVEGES. EBBARB LTV -FEEET,

(FH25E5 A5 IRHA)



